Either vs Neither vs Both - Test 03

Questions

1. his parents is British. He is French and she is Spanish.
A.  Either of
B.  Neither of
C.  Neither
D. Either

2. The house was large and comfortable.
A. both
B. either
C. neither
D. none

3. The two boys? No, I haven't seen

A.  either of
B. either
C. neither
D. noneof
4. The cave was cold and wet.
A. neither
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B. either

C. none
D. both
5. Isthat Mr Dumas, the writer?"' "Yes, father
A.  both/and
B. either/or

C. either/and

D. neither/nor

6. We___ knew the answer. It was very easy.
A.  neither
B. either
C. all
D. none
7. Shetried both keysbut _ fitted the lock.
A.  either
B. neither
C. nor
D. both
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son are writers.'

Photocopiable


http://www.englishteststore.net/

D.

9. The two windows were open.

A

B.

C.

D.

10. | tried two jackets but neither

A

got the geometry problem right.

neither

all

none of

both

Both

Neither

Both of

None

was

has

had

have
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them had been forced.

the right size.
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